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1. Consider the following statements :
Assertation (A): Mauryan kings
after Asoka issued
debased coins.
Reason (R) : In India there was
scarcity of precious
metals.
| Choose the correct answer from the
- options given below :
(1) . Both  Assertation (A) and
Reason (R) are false
(2) Both Assertation - (A) and
Reason (R) are true and Reason
(R) is not the correct
explanation of Assertation (&)
(8) Assertation (A) is true but
Reason (R) is false
() Both- Asserfation (A) and
Reason (R) are true and Reason
(R) is the correct éxplanatibn of |
Assertation (A) '
2. Who among thé Vijayanagar ruler |
sent an em_bassy to China? '
(1) Harihara IT
(2) Bukkal
(3) Bukka II
(4) Hariharal
3. Who among the foreign traveller to
India said, “All Indians are free and
" not one of them is a slave”’? -
(1)  -Itsing
(2) Fahien
(3)  Huein Tsang
- (4 Megasthenes
497-D
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1S.COmM

C

. (4) Atharva Veda

.. " ]ast
Mahmud of Ghazni led his

expedition to India in the year

(1) 1019 A.D.

@ 1027 A.D.

(3) 1026 A.D.

(4) 1000 A.D. -
With reference to the Regional

Comprehensive Economic Partnership
(The RCEP) which of the following
statements is/are correct?

(@) The RCEP is a regional trading
agreement

() It was signed by the ASEAN
members

(¢) Ratification will likely be 1in
. national parliaments

()] .India opted out of this deal in

2019

Which ‘o‘f the'stateﬁnents given above
is/are correct?

D @, ®) and (@
(2) all the above four

() (0)and(d)

@ (a)and ()

Which is the oldest Veda?
(1) Yajur Veda.

(2) RigVeda

(3) Sama Veda

S

_ In . which among_ ; the following

Harappans site was a _dockyard
found? 14

(1) Lothal

(2) Rop ar’ '
(3) . Chanhu-daro
(4)  Kalibangan




8. 8 2enRYNYSS ans cleemny o]
- QOBRE s wIOr S9BTY?

9

1)
2) o
(3) &oTws
(4) oo

9. -1 ey ceh gl B0 FOTRDND !
oe3-11
e

831
() BB

(A) Beed)S THF
| (B) SBubom eee (i) SRR }
() ungesss 3 (iii) oo

D)iemnd v dEowed
@ <asmne (v) Sgowsd q.
s oeBm  ealrv)  mOiRs t‘{
eV, 0% : o

@ ® © @O ® "j
O ® O Gv @ @
@ @ Gv) (v @) - @) LE:'
@ Gv O O -G G -
@ @) O w @, .(iii)v
10, .8 3v50E. B39 sROSE odRs IR
o, evIBaieeds | m00dRA
RpeeoZyBd? | hi
o8 : VeSS
(1) woe3ed - T S
(2) ST - 3adeemor®
@ Fm - paw
4) Rermd — - eSmer

497-D

A~

13.

11. RBeodk 2000 a3 Jalrg
oz RodeaRZOrPos T3k

a83-1 83-11 '
(2005300) (co23y)
(A) 500T3 (i) w9
,(B) woooes®  (i1) a'jga)’) 20070%
(oot (i) 00
(D) &0t380%°  (iv) SENRTORB)
xo@e@go’ﬁw : |
@ ® © @O

W G O @)
@ @ G 6 @
@ G a0 @

@ ) O @ @

Pt
!.Q .

Sesorin) e wodr HEV0 TR
y }a"..i,raewzﬂ soabEEs  we0n B0 3e3
- odege? '
(1) : eaaiaébw coadwg ;Goagas’
) |
3
4)

e
-a%wo‘v‘ _
23008

con B0 TERERT

| Somged Ssey coRIRRREHESS
(1)
2)
(3)
“)

wgm 200070% '
€900

N
2,820

VSOTeB

A




o

8. Which among the following metals

was not known to the people of Indus
Valley?

(1) Silver
(2) Bronze
(3) Iron

(4) Copper

9. Match List I with List II:

List I List II

(&) Devirammana (i) Kodagu
gudda

(B) Tadianda mol (i) Shivamogga

(C) Channakeshava (iii) Ramanagara -
betta

(D) Kodachadri @iv) Chikmagalur

(E) Savanadurga = (v) Chikkaballapur

Choose the correct answer from the
options given below : A
@ ®B © @O E
O @ @O Gv) @) (i)
@ O G v @ (i)
3 @) @ (v G G
4 @) @O @ @) 3

10. From the following South Indian

River ' ‘which tri'butory 1S | not
matching with their sub river
River — | Sub river
(@7 Kaveri —  Suvarnavathi
(2) Mahanadi -  Seomath
(3) - Krishna —  Bheema
(4) Godavari — Varna
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11. Matc the Code glVen

correct answer from

below :

List I List II

(Port) (State)
(A) Kandla (i) Odisha
(B) Paradeep (ii) West Bengal
(C) Haldia (iii) Gujarat
(D) Tuticorin (iv) Tamil Nadu
- Code :

@ ® © O

@ @ 6 G G

@ G) G 6 )

@ G @ O

L@ GO 6 6
12. Which is the first country to implant

family ‘plannin.g programme 1n the
-world? -

(1) USA
@ China
"(3) Niger
(4) India

13. Tropic of cancer passes through the

state of

(1) West Bengal
(2) Assam
(8) Odisha -

}(4) Ut_tarprades‘}jlh |
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4. Match List I with List 1y -

List I | List IT
(Population (States)
Parameters

a'ccording to

2011

census)

(A) Highest sex (i) Mizorar

ratio -
(B) Lowest (i) Kerala
density of - - .
population |
(C) Highest (iii) Nagaland |
child sex : - F:
ratio b
(D) Lowest (iv) Arunachal_ s -
growth of Pradesh’ ‘;."2 '
- population & ' | LHCI
e -1
Choose the correct answer from the E'}
options given below : ' TP
@ ® .© @) %
1) (v @ () @) Ly
@ G Gv) G i) HE
@) G Gv) @ -G
@)

@ @) Gi) Gv)

15. 'Which/ of the following pair is not
correctly matched?

(1) Lonarlake — Maharastra -

(2) Wular Lake - Jammu and
, Kashmir

(3) Kolleru lake — " Odisha

o, Rajasthan

497-D

(7)

‘ . in the
The Ganga plain. 1S found

16. f
. - .stateso d
. ‘har an
(1) Uttara Pradesh, Biha
‘ West Bengal q
(2) Haryana, Uttara Pradesh an |
West Bengal
(3) Uttara Pradesh, Himachal
Pradesh and West Bengal
(4) Punjab, Haryana and Bihar
' 17. India’s National water way 1 refers
to )
| (1)A Indira  Gandhi canal in
. Rajasthan |
(2) * Ganga river — Allahabad to
Haldia
(8) Buckingham canal in Tamil
, * nadu ’
(4)  Brahmaputra river — Sadiya to
- Dhubri - .
18.- Match List I with List IT
ListI List IT
(Pass) , (Region/State) _
(A) Burziland . (1) Himachal Pradesh
- Zojila pass 5
~ (B)Baralacha ' (ii) Ladakh
. -Laand :
Shipkila
pass
(C) ThagaLa (iii) Sikkim
~and:
Lipulekh
~ pass -4 Fiai
(D) NathuLa ~ (iv) Uttarakhand
and Jelep ‘ : ¥,
La pass

Choose the correct answer from the
options given below :

@) B (© (@)
(D G) G Gv) Gir)
@ @ Q) () @)
(@) @) @) Gv) @)
@ v G) 6. G

>
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19. A group of industrialists and

- technocrats proposed the nickname
of a 15-year economic plan for India
In January 1944. It is known as

(1) Madras Plan

@) Planning Commission
(8) Finance ' Commission
(4) Bombay Plan

20. The Chairman of the Committee on
Doubling of Farmer’s Income is

(1) Sri. Tawar Chand Gehlot
(2) Dr. Ashok Dalwai
(8) Dr. Ashok Gulati .
'(4) Dr. M.S. Swaminathan
21. Match List T with List II and select
the correct answer using the codes
given below : :
ListI _ List II
(A) The rule of (i) Keshavan'
severability. Madhava Menon
V. State of
Bombay
(B) The (ii) Menaka Gandhi
Doctrine of = V. Union of India
Eclipse ) o
(C) No (iii) State of Bombay
retrospective V. F.N. Balsara
effect

(D) Principles of (iv) Bhikaji Nirain

National Dhakaras V. State
Justice of M.P.
Codes :

A)=® (©) D)
1) Gv) ) @ @
@ O @ @) (@i)
(3 (@) @(v) @ ()
(49 @G- @v) @) @
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~with List II
b1 e codeS

99. Match Lis . th
nswer using b

the correct a
given below :
List I List H'

(i) Right against

Exploitation .

(A) Article 112

(B) Article 28 (i) Freedom of

and 24 Movement

(C) Article 18  (iii) Annual F inancial

Statement
(D) Article (iv) Abolition of Titles
19(1)(D)
.CoAdes:~
: 4 @B © @
W@ G O G
: .-'(2) i @ @G 3(Gv)
@ @© @ G@v) i)
@ () @ G @
. The | spéciﬁcﬂ pfovisions' for

reservations are found in

(a) Articles 15(4) and (5) and 16(4)
(b) Articles 330 and 331

(c). Article4s 332_ and-333

@  Articles 256 and 257

(1)‘» (b) and (c) aré trﬁe

(2). | (a) and (b) are true 5

(3) | (a) and (d) are cox"rec.t"

@  (a), (b) and (c)_ére t‘l;ge :
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24. Given below

25.

are two stntements, one
labelled ag Assertion (A) and the
other labelled as Reason (R)

Assertion (A) The Constitution

does not define the
expression
“reasonable
restrictions”

Reason (R)

General pattern
of reasonableness
be laid down for
all cases and
situations

Sglect your answer from the codes
given below :

Codes :
ey
@)

(A) is false, but (R) is true

Both (A) and (R) are true and (R)

1s the correct explanation of 4)
“(A) is true, but (R) is false

Both (A) and (R) are true, but

®)

18 mnot the correct
explanation to (A)

3)
4)

Given below are two statements, one
labelled as assertion (A) and the
other labelled as Reason (R)

Assertion (A) Remedies

enforcement
rights conferred
under Article 32 of
the Constit"lution

Unlike other
rights,
remedial

for

Reason (R)

Select your answer from the codes "

given below :
Codes :

(1) (A)is false, but (R) is true

(2) Both (A) and (R) are true and (R)
1s the correct explanation of (A)

(8) (A) is true, but (R) is false

(4) Both (A) and (R) are true, but -

the ™ correct

(R) ‘s not

explanation to (A)
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26.

217.

28.

@

: rliest
In which of the follow1ng ed

S
% ard wa
cases where a Mumclpal Bo

i der
held to be a local authority un

ut f
Article 12 of the Constitution 0

India?
Rashid Ahmed V. M.B. Kairana

Ashwin Kumar Ghosge V.
Arabinda Bose
Sohan Lal V. Union of India

B.R. Kapoor V. State of TN

Gram Sabha is defined under

(1) Article 243-A of Indian

Constitution

Article 243-W of Indian

Constitution

Article 243-G of Indian

Constitution

3)

(4) Article 243-R of Indian

Constitution

‘The' words ‘Socialist and ‘Secular’

were added in the preamble of the

constitution by the

(1) 42 Amendment
(2) 44t Amendment
(3) 72nd Amendment

(4) 40t Amendment
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29, Non-

30.

| exclusion of creamy layer voids
the  basic structure  of  the
- " Constitution was held in which case?
(1)  Ashok Kumar Thakar V. Union
of India ‘

. (2) Thambiran case
(3) Sohan LalV. Union of India

(4) State of Punjab V. Satyapal
Dang

In which one of the following articles
of the Constitution of India, the
words ‘Procedure established
are referred?

(1) Article 14

(2) Article 22

(3) Article 21

(4) Article 16

by law’

31. Consider the following pairs: -

Books - Authors
(@) Democracy Rules — Sheera
Frenkel and
Cecilia Kang
(b) The American war — Carter
in Afghanistan Malkasiar
A History x
(c) Tomorrow, the — Stephen
World : the birth * "Wertheim
of US Global :
_supremacy .

(d) An Ugly Truth : — Jan-Werner -
Inside Facebook’s Muller -
Battle for
domination

Which of the pairs given above is/are
correctly matched?

@), (b)) and (@)
(@ ®and (@ -
(3 (@), (®) and ()

-~ (49 (@and @)

32.

Mirabais Chanu 'is associated with
which sport?

(1) Weightlifting

(2) Cycling

(3) Boxing

(4) Swimming
497-D
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34.

o.COIT
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33.

36.

317.

th
Hundred and FoOUr

The - One he Constitution of

Amendment of t
India relates to

of Judges ©f

(1) Appointment .
Supreme Courts and High
* Courts

(2) Extension of reservation of seats

for Schedule Castes and Tribes
in Parliament

Goods and Services Téx or GST

Agriculture reforms

3)
(4)

Who among the following is not
associated with the Revolt of 1857?

(1) Lord Dalhousie
(2) Lord Canning
(3) Bahadur Shah
(4) Kunwar Singh

Who among the following authored
the book, ‘Poverty and Un-British

* Rule in India?

(1) Subhash Chandra Bose
" (2) Motilal Nehru

(3) Dadabhai Naoroji

(4) ‘P.T. Aiyangar

Who among the following freedom
fighter said, “Freedom is my birth
right and I shall have it”?

(1) Bal Gangadhar Tilak
@) Lala Lajpat Rai

(3)m Gopal Kriéhna Gokhale
(4) MXK. Gandhi

Who among the following is known |
as ‘Frontier Gandhi?

(1) Madan Lal Dhingra
(2) Bhagat Singh
(3) Abdul Ghaffar Khan |
(49 MN.Roy
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38. Consider the following statements :

, . ended Wlth
41, The First Carnatic war
. the treaty of
Assertation (A): Gandhi withdrew the ick
on-Cooperation (1) Treaty of Rysw
movement after 2) Treaty of Paris
Chauri Chaura @ Y ,
incident (1929) (3) Treaty of Bassein
Reason (R):  He realised that the (4) Treaty of Aix-la-Chapelle
Indian masses were _
not yet prepared for 42. Who among the following was the
non-violent Non- first Portuguese Viceroy in India?
?n%iii;it;:n (1) Duarte Pacheo
Choose the correct answer from the @ Francisco Da Almeida
options given below ; . (3) Albuquerque
(1) Both Assertation (A) and Reason (4) Vasco-da-Gama
are false ' :
(2) Both Asséertation (A) and Reason 43. Who among the following”said, “God
- (®) are true and Reasop ®)isnot _ 1s the breath of all breathg”?
the correct reason of . E ' (1) Kabir
) Assenagop @) e | (2) - Mirabai
-(3) Assertation (A) is true but . ‘ .
Reason (R) is false ' gh 3 Chaitanya
(4) Both Asseftation (A) - and (4) Nanak
Reason ([R) are true and | : ) ;
Reason [®) is the correct reason_l:A 44, Who. was th.e designer or chief
of Assertation (A) _Eﬂ' architect of Taj Mahal? _
; ‘ SRR W (1) Abdus Samad |
39. Giv’e the correct chropologieal erder E : (2) Jahangir
I Communal A Q- (3) " Ustad Ahmed Lahori
II.  Simon Commission R @ M Samad
ITII.  First Round Table Conference g ' (4? rornanm _
Iv. Gandhi-Ir_win Pact 45. Choose the .correct order of the
(1) Iv, 111, II, 1 following dynasties rule 1n Delhi:
‘ Lodhi 4 ty
(@ LILIILIV . (a)) .T° hll yr;as v A
u nas
® LT, 171 ey
I AII v I. (©)¢ Khalji dynasty
(4> B’ B ' N 0Ny yia dynasty
40. Which among the following fort is not . (e) Slave dynasty
I et i
associated with ‘Shivaji? ‘ e 1Y ) ©), ), (&), (@),
(.. Shivmer @ (@), ®), ©), @), ©
T
() - Javli ; ® @, 0), @, @
hgarh to=
i @ ©,0,0), @,
(4) Raigarh - - '
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46.

47.

48.

II. G & E g} 298a C odwo DA
| OPT0NTN DYSTYS |
OI. D & A &g iin?édos Fb G-
@abdna)mﬂ &@émaﬂ '
IV. HBod 23@% 5)‘1?\%5525
E oo a3oor expeossmed 098wmes?
1) H.
@2 F
3 G
. (4 B : '
A S oTE DHPSBSH a3Rd?
() H
2 E
3 G
4 F
A BReBNTY, TOredd :
3835000 ' a3,
(a) R deuodo — 2P
(b) V8o SRRSO — For3eocs®
(c) dSBees® @gdes - — 93005
(d) oTB3® ets — Oy

49,

497-D

Rosd, 46 B0z 47 TOAS TBIED.
3963 e}»’gobaig! BROORIEIN
R, S50 ot evgoh

msﬁe [ a)&;éai)d) )
TR THOO[D) 9Te0T TR0,

SO BNV o) deednsd -

TOIA, BRoBTIRRIS?
(1) s 2o Beean
(@) 2oz el SPg
(8) Sech Beeantd asas
(4) TR EeBriwd as:as
B0n Rede - Ocnsedes | Oda
3QFT eSod FODE Ve SRR
(1) 230
() deos
. (8) ooode3dedd -
4) roonr

_Faresightkas.com

- (16)

50. 2PQT od TEINY  TRER0 W0e0Qz

61.

" 52.

.(4)‘

' we:amsabcésow
: ﬁfae@w

e20BIPRY, a3 GoRIEYT)
(1) 6906'8656 V(UN CTAD)
(2) a3ebE 29,05°

(3) gt (WTO)
(4) oi)oaoa% (UNO)

#ms‘édb’ 2021-22 O ©Be7 Thegod
50 KO3RS de%obm eao:b wE@

(1) esbew See 22&2 z?f’wﬁ”gc:
533030 Toeys zuéda)‘ cieBeads
emgqéo 66.1% 03
€90T3023REOATS

(2) * 2020-210 -+ eTHOHY  TewW

| Sohriees SVT3E),
e, edam 7Y
Beenvy) - oowyey a:’o‘aa‘é
RomesBSaby, w@o:;%oﬁeg

: (TOXB.
3) _apad@% 20003 TERALITDY

eSTNE VL) Toordlsey 12% emoen
a&raoado ailrao’a"oi) ama’d@d
&rae&ca% 9T caazsz:i wéy
 c3eBeay SVTTT 2083 EVTIEEY
- GDP'18. 4% irac&ari’ N~

IeNSYRERY

(a) 14 ae‘:’maa méoﬁorw oae%@dca
() (Rt wpst et Q0BT

oa%eédca'
(€) Oxa¥Er 2OEd e [OROIRE
oaegeﬁo’ca '
@ &S5 'aairedas ﬁ)e,gae?dezjaﬁ‘d

’ cae%eﬁdca
8#{% &')e@cbd esoﬂ)rie?od Y em@dm
es8.

1) (@, ®), (@),.()
2) (9, (), @), (a)

@) (), @), @), ©

@ (@), 0),©, @

.

NG



?ugstion Nos. 46 to 47. Study the

50.
ollowing question carefully and '
answer the given questions.

. Four ladies, A, B, C and D and four
_gentlgmen E, F, G and H are sitting
11 a circle around a table facing each
other .
I No two ladies or gentlemen are
sitting side by side
11. C, who is sitting between G & E, 51.
18 facing D
Il Fis sitting between D & A and
facing G
IV. His to the right of B
46. E is facing whom?
1) H-
@ F .
®) G Eé
@ B gq
47. Who is sitting to the left of A? N
O H ' : 4. ol
@ E =
3 G. |
@ F | O
48. Consider the following pairs - ri""__:. )
Players : Country . :
(a) Momiji Nishiya '— Japan E 1 5.
(b) Nikita Nagornyy = The UK ’
(0) Caeleb Dressel ' _ The US
(d) Adam Peaty — Russia
How many pairs given above “are
correctly matched? ' e
(1) all four pairs
(2) * only one pair
(8) "only three pairs
' (4) -only two pairs .
49. ' India’s first aerospace | 'SEZ 'is
operational at
(1) Belgaum
(2) Bidar'
(3) - Raichur -
(4) Gulbarga l ,
497-D

@7)

(@)

)

Trade Related aspects of Intellectugl

Property . rights agreement 18
administered by the

(1) UNCTAD
' (2) World Bank

3) WTO

(4) UNO

Choose the right statement according

to the economic survey of Karnataka
2021-22 :

(1) Service sector's contribut_ion to
the gross state domestic product

which accounts for 66.1% was
estimated for FY 22

During the period of 2020-21,
state faced negative
contractions in the growth rate
of the major sectors like

industry, tourism, employment
generation ’

Currently Kamatéka stands

third in attracting nearly 12% of
the overall domest

ic visit to
. . India 3
4) IT services gave state GDP
’ 18.4%  reboot after Covid
" slowdown
Arrangé - the following in

chronological order

(@) Nationalisation of 14 major
banks

(b) Nationalisation of SBI
() Nationalisation of RBI
(d)/ Nationalisation of LIC

" Select . the ‘code for the coftect

answers from the options given

~ below: :

M) @, ), @, @
@) (©), ®), @), (@)
3" ®), @), @), ©
@ @, ®), ©; @
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53.

54.

55.

56.

- (3) George Bernard Shaw
@) J.S.Mil
Maclagan committee is related to
which field
(1) Foreign trade
(2) Agricultural sector
(8) Industrial sector
(4) Cooperative sector
When did the Karnataka . Mandalc
Panchayati act come into force? ) O
(1) 1992 O\
@) 1985 T
(3) 1987 (U
(4) 1983 "5
: i
Which state was the first to adop@
- the Panchayat Raj system in India?" ;=
(@) Kerala ; g
(2) Andhra pradesh fe
(3) Rajasthan o
(4) XKarnataka —

57.

“Power is everywhere
comes from

defined by
V)

(2) TFoucault

because it
everywhere” this is

Nozick

What is form 11 in Karnataka?
(1) Its a document issued by the
District Commission

(2) Its a_document issued by the

; Gram Panchayat for -
non-agricultural properties in
its jurisdiction _

(8) Its a document issued by the"
Income Tax Department

(4) Its a doeument issued by the
Revenue Department '

497-D -
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58. Which organism is considered as the

59.

indicator  organism  for  water
pollution?

(1) Pseudomonas Putida .

(2) L. Coli

(3) Yecast

(4) Bacillus subtilis

The  antibiotic penicillin was

discovered by

(1) Alexander Fleming
(2) Louis Pasteur
(3) Edward Jenner

" (4) TRobert Koch

60.

61.

62.

Genetically Engineered bacteria used
to treat petrol pollution are called
@

Super worms

(2) Super bacteria

3) Megé bugs.

(4) Super bugs

When the electrical cells are
connected in series, the output
current of the combination

(1) Zero

(2)\' Decreases

(3) Increases

(4) Remains same

Which of the following works on the
principle of Newton’s 111 law?

ol Rowiﬁg of a boat-

- (19)

(2) Rocket
3)

@ Al of fhe above -

Swimming
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64.

65.

66.

497-D

g3008e0% TSoeE  Jadvod O
Qe¥edes® "‘e‘&)cx:bﬁrg [T  FeHadsS
E%@OJ\) Qw?

1) 2 ronw

(2) 4% o33t

1

3) 55 o833eh

(4) 3 rotsd

%edo BeeeS . (40 cm: x 40 cm)
s:bwp@ws (o) ama%’ab :’}ﬁoﬂ\’)oa’
ReBwen, SN0 @0238 BRTBD,
30083HA dxacé’cd:oa’ 80 &ogTons
o’ocf’ 203, Fos SV a?vao@d
aw?

(1) 10cm
(2 20v2 cm
3B) 20cm
(@) 50cm
LTI (A) : esma’ Qeed: a)caw@
ri:aeesano'e"d
ple o) (R)': RSl ) aﬂ’o;f&as’
aa’cbo’o&@o&)omaﬁ

(1) (A) 2 (R)  o0ze

®) oot e
(A) SO0 = (R) ety
A) 3= =) (R) 30

(A) % R) a6m=e oWy,
- (B) RBotecs Desosainey

O,
2
€)
(C))

83 3¥NT adves T TR wage—.sm

230D araoad?
(1) Sore

2 s

@) e
(4) wp -

(20)

67. etpdnod  esodmgodead wEeo  Ghiey
03ReYEE B30ETNCS?
(1) Prieews wesr g
(2) oPrieeds o3 G
(3) oPrineedy 8 g3
1) Prieeds ev3s G
68. ‘3z  Foordw  exdE By BOr
02200 FNVI)  2.¥rinedois
ed03ATS,
(1) X0esoso 3
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g3. What is the time difference hetween 67. Barth magnet has its South pole
Indian Standard Time (IST) and

: : situated near the
Greenwich mean time? ‘

-\

(1) 2hours (1) Geographical East
2) 4l hours L (2) Geographical Sou'th

: () Geographical West
(3) 515 hours

(4)  Geographical North
(4). 3 hours

68. Policy that includes measures related
64. A carrom board (40 em x 40 cm) has ‘.CO gox;ern.ment 2 et g
the red pawn at the center. When the 15 called :
red pawn was hit by the striker, it (1) Stabilisation Policy
moves to the front edge rebounds and _ :
goes 1nto the hole behind the striking (2)  Fiscal Policy
gzin'fshe dlsplacem_ent. of the red - (3) Mon etary Policy
@O 10em - d (4) Commercial Policy
o s _
@ 2042 cm Ol 69, The Demographic  Dividend 1s
@) 20cm ﬂ defined as
. ' b .
' (4) 50 cm L (1) A rise in the population growth
65. Assertion (A): h . V bi d | - - -rate due to rising welfare
B sertion . §~S y appears ue.. E?} A schemes
Reason R): It is due to scattering/? : ok,
- of light D (2) A rise in the rate of economic
(1) Both (A) and R) are correct';*‘,,'I growth due to a rising s]:%are of
and [R) is the '.corre working-age : people in a
explanation of (A) population .
(2) (A)is correct, (R).is incorrect - () Arise in the growth rate of the
(3) (A)isincorrect, (R) is correct 1 population in urban areas
(4) 5 Both(A) e.md (R) are correct _ @) ) AT above
-and. (R) is not the correct ' r - L .
cxpl R atiqpf (A) - 70, Which of the following country 1S not
. ] . ‘)
66. Which of the following planet has  part of th9 SAARC Region?
shortest period of revolution? = (1) SriLanka’
(1) Mars (2) Bhutan
(2) Venus (3 Myanmar
: Earth ) | B
(3) , (4) Maldives:
(4) Mercury - - _ : :
| W 21)
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indicators of

The , the 74.
Multidimensional Pov_erty Index -
(MPTI) are : :

(@) Nutrition and Child Mortality
(®) Years in Schooling and School
Attendance ‘ :
(¢©) Cooking Fuel, Sanitisation and
Drinking Water
(@) 7Per -capita Income, Maternal
Mortality and Poverty
Which of the indicator
is/are the correct?
Q) @), ®), ©) and (@)
@) (a) and (b)
@) @), ®) and (©)
@) () and ()

S given above

72. The book An Era of Darkness : The
British Empire in India ‘is authored
by : : -

Q) Dr. Manmohan Singh

@) Dr.Monek Singh Ahuluwalia

(3) Shashi Tharoor _ N

(4) Pandit Jawaharlal Nehiu

73. The Sveriges . Risksbank prize in J

Economic Sciénces in Memory of—

- Alfred Nobel 2021 was awarded to /)

David Card, Joshua D. Angrist andl:'__:l

Guido W. Imbens S N =l

(a) For empirical contributions to O

’ labour economics LWL

(b) For methodological g
contributions to the analysis of
causal relationships y

(0 For improvements to auction
theory and inventions of new
auction formats -

(d) For their experimental - . :
approach to alleviating global
poverty ; ] :

‘Which of the statement given abo_ve' _

is/are the correct?

@) (d only.
2) (& and (b) -

(3) (b) only
4) (a), (b) and (c)
497-D
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The United Nations Conference on
Environment : Development
(UNCED) which was held in Rio de
Janeiro, Brazil from 3-14 June 1992

is also known as

and

(1) Earth Summit
(2) Environmental Summit

(8) Environmental and

developmental Summit

(4) Developmental Summit

75. A small enterprise’is defined by the

- Ministry of MSME is )
' (1) Wheére the investment in Plant
‘and - Machinery or Equipment
- AdOes' not 'exceed three crore

rupees and turnover does not

exceed five crore rupees

(2)° Where the investment in Plant
i and Méchinery or  Equipment
"aqes not exceed ten crore rupees
and turnover does mot Vexceed
A fifty crore rupees -
| (8) Where the investment in Plant _
and Machinery or Equipment
" does mot- .exceed +two crore
rupees and turnover does mnot

sexceed temrcrore rupees’

N (4) "Where th_é investment in Plant
. and Machinery or Equipment
9 'dbes‘ndt. exceed one,crore mpees
‘ _and. turnover' does' mot exceed -

- five crore rupees

|

©(@3)
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16, From which year, the transgender ‘

(25)

82.. Rhizobium.' bacteria  fix tﬁe
persons (Protection of Rights) Act atmospheric nitrogen gas into the
~ came into force? soll and increase soil fertility
N (@) It live in the root nodules of
(1) 2020 " Leguminous plant ‘
(2) 2010 (®) It live symbiotically with
(3) 2018 Leguminous plants '
(4 2015 ) It degrade dead plant and
‘ animals.
77. What 1s the marriage of a widow to (é)) ((Zg,a(gzl%él)d (c) are w;*(()r;g
. v ) are correct (c) is wrong
%:imege;::‘? %0 -hushand’s brother. (3) (a) and (c) are correct
1) Lev ' . ‘ 4) (a), (®) and (c) are correct
Levirate : .
2) Widow marriage 83. The density of a population in a
() Polyandry %1¥1en “habitat is increased by the
. s ollowing reason
@) So_10}at_e ' . (1) Immigration
e g (2 talit
8. The d9wry prohibition was enforced . 53% Igiﬁagl;gion-
183““11;71 E @ 0w
Q). 1950 P 84. incré_asing In concentration of the
(3) 1961 2.~ non-biodegradable toxicant like DDT
(4)' 1960 N In  successive trophic levels of
S _ ' - foodchain-is called as :
' - e g ) .~ < (1)  Bioluminescence
~79. Who is _tl,le proponent of Lookmg.' -_':_H} (2) Eutrophication
Glass.Self’ theory? .— (3) Bioremediation.
(1) Ruth Benedict :_.: ) B'lomagniﬁcation
(2) Margaret Mead b 85. Congid th - 'y ]
I Oo. onsidaer € 10 owing pPars:
(3) CH Coole L-D_ ' Present Member ~ Representation
(4) Sigmund Freud . countries in the of region in the
: UNSC for the - UNSC
80. Who called Indian villages as ‘Small . 72023-2024 term as
Republic? A . Nor}-'permanélnt _
(1) Sir Herbert Risley (a) India —%ﬁr_man aigd‘
‘ i sia pacifie
(2) Charles Metcalfe OB w1 na L Westo NN
(8) |G.S.Ghurye (c) Japan — African and
(4) A.R.Desai Asia pacific
. : (d) Ecuador : —Lat'm.
81. The concept ‘Dominant Caste’ was ' 8 %mgg{):an and
? B | .~ .. . Caribbean
Hst 1ntroduc?d. 4 Which.of the pairs given above is/are
(1) M.N. Srinivas correctly matched?
(2) Wester Mark (1) (), () and (0)
(3) Malinowski (2) _(a) and (b) .
4) A.G. Keller (8 (o) sndi(a) B
() AG. L@ ®), 0 and @
497-D
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L@ ey e D)admegs (iv) Sfpedemoetish
87. 2022 oI o) oowiFecs %; ;’v; 1)1) i)
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TN | g (4) Bpedess
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K : T oa&g;,eob emmaéida’dm’b [~z 9L=3)
. oRRgEbEN 1 (@) sl momses wowe — 5@
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6 Increaéing skin cancey and high
'mutation rate are the result of

(1) CO, pollution
(2) Ozone depletion
(3) CO pollution

@) Acid rain

87. As of 2022, the total number of

Ramsar sites and tota] area under
Ramsar site in India are

(1) 75 sites and 13,26,677 ha
' respectively

@) 26 sites

and  6,33,871 ha
respectively o

@) 72 sites and 13,15681 ha
respectively ‘
(4) 5 sites and 1,32,677 ha
‘ respectively e
88. - Consider the following statements -
Assertion (A) : The photochemical .
= 8 smog occurs day time
In the atmosphere
Hydroxyl radicals
- are generated
photochemically in
the atmosphere

Reason (R) :

Choose the correct answer from: the

options given below -

| (1) Both (A) and (R) are false

l (A Both (A) and (R) are trug, and ®R)

1s the correct explanation of (A)
() (A)istruebut ®)isfalse
(4) Both (A) and (R) are true, an

(R) is not the correct s
explanation of (A)

497-D
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89. Match the List T and List II

List I List IT
(Group) (Example)
(A) Fungicide (i) Lead arsenate
(B) Herbicide

(i) Bordeux mixture
(C) Insecticide (i11) Zinc phosphide -
(D) Rodenticide (iv) Nitrophenols

. Choose the correct answer from the
option give below :

& B ©) M

() Gv) G) @) (i)

@) Gv) @) Gi) (i)

®. @ @ 6 i

@ O G Gv) (i)

90. Which one of the following has
highest heatin

g value (MJ/Kg)?
(1) Methane .
(2) Kerosene
(3) Gasoline
(4) Propane

91. - Consider the following pairs.
National parks Countries

* (a) Mefou National . — Canada
- Park

— New Zealand
- community Hippo

Sangtuary
(¢) Khao Sok
. National Park
(d) Crbaj'mgolong _
" National park

— Thailand
s Austia]_ia

Which of the pairs given above is/are
~ correctly matched?

(1) (only. . __ .
(2) (a)and (b)
(3) /(¢) and (d)
(@ (a) only

The ages of Samir and Tanuyj are in

the ratio of 8 15 years respectively.

After 9 years the ratio of their ages

- will'be 11 : 18, What is the difference
1in years between their ages?

A== 2 yearsw rmw

(2) 24years
(3) ". 33 years

92.

(4) 20years .

@




93. X, Y ) Z oxEmen 25,000, 97. we) oW @eERleh ¥ 2 e

40,000 =m) 35,000 eo@ZOVE) 200208 RN, 2,000 Ze. 25 Devy
BB 20w SIRER0RRY,  SR00ePTTYC. 3y Be. 75 T, woEP0d) TR
45,000 QSesoony iy oopsd 71 Be. 50 Qedd. 831 12 etich I
medejeﬂzj eyogr-f Qed 63‘?3 ool %@3’)’35’6

3:5 wi T8 FIIE O =
(1) 16,7 v £3) 1) TV
e o ‘ B8e8ea ¢
,250
@ 18,000 (1) 7., 3 ee,
4) 15,750 | (2) 4%, 8%
’ (3) 3., 7 e.

9. IOTYrv) wmaes  woslobry

éocgggoaom@ ) | (4) 6., 6%,
25, 225, 625, 1225, 2025, -
. - 98. 40 09 15% 2.0 Rosdod 25% 202
(1) 4025 3
@ 3075 : - o 2 aod 623556 e37y e9T) Of\Ee-) xo’ﬂ'7
(3) 3250 .S () - 32
; 2) 12

(4 3025 0

: ' . ' ‘3) 24

95. A B fo3 &35, emd C Ao By, T 4 16
D E fos 3¢, B agtemy E ag - :

v B 39750 99, g 29000 Ry oLRRS
£95f wrbrwmnn 03wy A 3 Smenve de. 3,422 wAnes. no
G B aod? Q) ST DR DS GPDEG B

© g bl e WRTOD, 3% T IS, escde
(@) E LE @B LD [0 I ervsE?
@2 B (1) 3,683 an.
3) D ~
§4; \ (2) 4,465 Sn.
(3) 3,5963%.

3 mwmne B[E 8 nodabos 2 8 . = . n 4
BRcHRBOES, | escde DeOT,  SpElody 100. 104/ sy | 172 Sosgvmh
4 SoHried 2,08 BTV 850D BRBW) BBoieomOoTOR 2 Bess W"?z;).;
) Hotsred eSeserdess? ' BeBobe) ged wwE | ©8
(1)” o s F0a309), FORIBOW.

- , Tolgis
(2) 9 o83 © 30
(3) 115083 . (3) 38
@) 10708 @ 32

497-D A (25



93. X,.Y and Z started g

. busine
investing Rs. 25,000, Rs eost By

- 40,000 ang
Rs. 35,000 respectively. Qut, of a total

profit of Rs. 45,000, Z share of profit

(1) 16,750
(2) - 11,250
(3) 18,000
(4) 15,750

94. Find the missing number in the
following:

25, 225, 625, 1225, 2025,

Q) 4025»'

@ 3075
- -
(3) 3250 .|
- N &
(4) 3025 , .
. \ o

95. A is taller than B

according to their height?

Q) E
2 B
3) D
@ A

96.,. 3 pumps working 8 hours a-dayycan
» empty a tank in 2 days. How many
hours a day must 4 pumps work to

empty the tank in 01 day?

97. A milk vendor has 2 cans of milk, t}i/e
first contains 25% water and 7 500
milk. The second container 50%
water. How much should he mix from
each can to get 12 litres of milk such

that. the ratio of water to milk 1s
3:57

(1) 7ltrs, 3 1trs
(2) 4 ltrs, 8 Itrs
(3) 3ltrs, 7 ltrs
(4) 61ltrs, 6 ltrs
98.

. If 15% of 40 is greater than 25% of a
- number by 2, then the number is

Q). 32
@ 12
“(3) 24
4) 16

99. A sum of Rs 2,900 amounts to
: Rs. .'3,422 In 3 years at simple
'_ interest. If the interest rate were

increased by 8% what would it
amount to in the same period?

(1) Rs. 3,683
- (2) Rs. 4,465
(3) Rs. 3,596
‘ (4) " None of the above
100. Find the greatest number that ¢an

divide 104 and 172 so as to.leave a.
I =remainder 24in‘each case.

(1) 34
@ 30
(3) 38"
(4) - 32

) g
(2) 9 Hrs
(3) 11Hrs
(4) 10 Hrs
497D
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In case 1f candidates uses the personalized OMR Answer SheetBelonging to another candidate then the OMR Answer sheet shall

be considered as INVALID. - : o B )

11. The 'candida.te shall affix his/her signature-in the’ personaﬁ% OMR. Answér’ sheet in the space provided without fail. If the
candidate fails to do so, then such OMR Answer Sheet shalllngcons'idéred as INVALID. '

6.  This Question Booklet contains 100 questions and each quéstigontains four choices. Select the response which you want to mark

12. In case if the c'andidate.uses the Non-personalized OMR Answer eet then the candidate shall write the Register number and version
code ‘in the space provided and encode the relevant circles. the candidate shall affix his/her signature in the space provided.
If the candidate fails to do so then such OMR Answer Sheet shall be considered as INVALID.

13. The candidate shall sign in the Nominal Roll (Attendance Sheet) without fail. ) .
14. Ifthe candidate violates any of the above instructions, then the OMR Answer Sheet shall be considered as INVALID'. -

15. Immediately after the final bell indicating the conclusion of the examination, stop any further markings in the OMR Answér Sheet.
The candidates shall not leave the examination hall till the OMR Answer Sheets are collected and accounted for by the Invigilator.

16.  The candidate shall retain Carbonless copy of the OMR answer sheet (candidate copy) till the announcement of final list and incase if the
Commission directs the candidate to produce the candidate copy, then the candidate shall produce the same without fail.

17...Sheets for rough work are appénded in the Question Booklet at the end. You should not make any marking on any other part of the
Question Booklet. : )

18.- Penalty for Wrong answers : - . :
THERE WILL BE PENALTY FOR WRONG AN SWERS MARKED BY THE CANDIDATE, ‘
(i) There are four alternatives for the answer to every question. For each question for which wrong answer has been given by the candidate,
one-fourth (0.25) of the marks assigned to that question will be deducted as penallty. i ’ ’ ]
(i)  Ifa candidate gives more than one answer, it will bé treated as a wrong answer even if one of the given answers happens to
be correct and there will be same penalty as above to that question. 6 : >
(1)) Ifa question is left blank i.e., no answer is given by the candidate, there will be no penalty for that question.

L Possession of Mobile Phones, Smart Watches, Calc{llators and other Electronic /

Communication gadgets of any kind is strictly prohibited inside the Examination venue.
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